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FLUID MECHANICS
frufie awg - v w2 [HthaH 37 : 70
Time allowed : Three Hours| {Maximum Marks : 70

Pz () FEA T IS I E @ e gia & I I

Note : Question No. 1 is compulsory, answer anv FIVE questions from the remaining.

(ii)  T9F ¥ & GHi 9T %1 BHER T G 5 Fiford |

Solve all parts of a question consecutively together.
{iii) WW##@#WW!
Start each question on fresh page.
(iv) @l srersi B i 817 #1 Ry 5 s sgag S e 2 1

Onlv English version is valid in case of difference in both the languages.

1. (i) g v e o awesy |

Explain the Newton’s Law of viscosity.

(ii) TR vd AR waTe 1 gHesy |
Explain steady and unsteady flow.

(iii) FEATETT ! FHATIT |
Explain water hammer.

(iv) T T T HH W R ST |
Explain Path line and Stream line.

(v) HE%A YATE i g9 |
Explain the syphon flow. (2x5)
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Calculate the total pressure and centre of pressure for inclined surtace submerged
in fluid.

YA J €, C, W C, freprem 1 faftr sy aofa &

Explain the method of calculating the C . C_ and C in laboratory. (6+6)

At 7 | fFremwor feprem % o wenfia i |
Describe the formula for calculating the discharge through venturimeter.,

foreft amgaTeRR Areft % srftsraw fraseft afedg & forn g wnfta Fifs |

Derive the formula for most economical section for rectangular channel. (6+6)

foreft wreamTredt oeg <6t FrsoTelt 1 At Tl = |
Describe the working principal of reciprocating pump with neat sketch.

AT % Tfleh0 ) fen & guEsu |

Explain in detail the classification of turbine. (6+6)

forelt g 3 g UhauH HEARR 3% 1 wreh HE F T F g @1 i S |

Calculate the time of emptying a tank of uniform rectangular section by any
mouth.

forelt waT=r 3w | ot gu g W for e o W g wiua shifv |

Derive the formula of the equivalent length of pipe connected in parallel order. (6+6)

mﬂﬁm%m@wﬁm|

Derive expression for flow over triangular notch.

T I 184 600 mm STH TF 1500 m o77=ms hi 8 | o s & fou o o1y
VTR 9189 @137 36 =18 ) 39 fgefra ored v / 1) 18 | org et ot oy
wid g e # 9fg w13l 4f = .04 @ @ wsie 30 mE

A pipe line is 600 mm diameter and 1500 m long. To increase the discharge
another pipe line of same diameter is introduced parallel to the first in the second

half of the length. Neglect minor losses. Find the increase in discharge. The head
at inlet is 30 m (4f = .04) (6+6)
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7.

(i) 1 m =8 $l T Wi I B 39 YR 391 g8 @ b 39 man w@ it T
Wﬁ%ﬁ%ﬁﬁ‘é .5 m U 2.5111ﬁ§,ﬁ®2m@aﬂ@m%mwﬁl

Find the total pressure and the position of centre of pressure on one face of 1 m
diameter plate which 1s immersed in such away that it least and greatest depth of
immersion below the tree surface of water are 1.5 m and 2.5 m respectively.

(i) Y= T Td YT 00 H gt i |

Write the comparison between Centrifugal pump and Reciprocating pump.  (6+6)

Frerferfaa w afia feogfl fafae : (18 9)
Write the short notes on following : (any Three)
(i) Toer s
Pitot tube
(i) e wevr frm
Fluid triction law
(iil) BT oAl @ U e TEurar W@
Total energy line and Hydraulic gradient line
(1v) $ree s _
Draft tube (4x3)
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